H & 0 & AFS 9 Al
2A: ARES
My URBY DU 25
el BARE 75 € EE (&2 &)
SA - HH .S (3H) - NEMY - BaS 0l bt e DS
NHRE2 9,641,989 10, 144,439 A502,450
2 5,490
=) 20,000
Al 9,616,499
ANHHY ZaE 25 9,578,086 9,453,145 124,941
= 5,490
= 20,000
Al 9,552,596
SUFE A5 L 28 298,188 321,750 A23,562
(HF)32UEE NEFE 2 AAH SN2 298,188 321,750 A23,562
201 ety 298,188 321,750 A23,562
02 33224 298,188 321,750 A 23,562
OLZ2H=EF 222AM2EH RXE=+ 35,340
OH/MW 166,000& * 128 1,992
ossS/M 2,565,000& = 12& 30,780
Ooass/M 214,000& = 128 2,568
OSt=EXNTHEAAE RISl 29,772
OH/W 1,480,000& = 123 17,760
ONBSMEEHSS B
462,000& = 123 5,544
ORet2 539,000 » 12& 6,468
OE SAINZEIAIAE RXIE U] 26,880
OH/W 651,000& » 12& 7,812
o= 1,175,000& * 128 14,100
o2 414,0002 = 123 4,968
OHZAAE(ZZ,406l=5) SAZ=H| 42,708
ossS/W 3,559,000& = 12& 42,708
OXGIAIEE SE2elAA2E KX E 4l 17,220
OH/W 148,000& » 128 1,776
osES/W 1,039,000& = 12& 12,468
OarZs/W 248,000& = 12& 2,976
OFXXNET HAZRIANLAEYE RIS 38,688
OH/MW 217,000& = 123 2,604
SES/MW 2,628,000& = 128 31,536
O&Zs/N 379,000& = 12& 4,548
OGISEEAIAY RX E==H| 40,272
OH/W 255,000% » 12& 3,060
os8s/W 2,691,000& * 128 32,292
OasS/W 410,000& = 128 4,920
O=JIB2AEEXMA =X =24l 24,336
OH/W 1,026,000& * 128 12,312
os/M 1,002,000& * 1228 12,024
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N & 0l & AFH S H Al

A NEESD
M NEHAF BalH 25
Cigl: ZARE 2= L &2 (B2 A& 9)
EA-HM .02 (5 = HASZ OH dMHs =3t
S -3 2(ZH) - HEANY - HAES 0ff A 0il &t o blus2
OTANZSERHEAAE S 24| 11,052
os8s/M 921,000 * 128& 11,052
OUPIS AIAE!N SX|E2H| 22,824
OH/MW 801,0008 * 12® 9,612
oaas/M 501,0008 = 128 6,012
o2 600,0002 * 12% 7,200
022 TAZFBEAAL 9,09
OH/M 346,0008 * 12€ 4,152
osssS/M 412,0002 * 12€ 4,944
DA HEZAIXIDL BAF, AE 275,018 287,634 212,616
(B )24 BIIRIRE 2Y 2,500 3,500 21,000
201 LBt HH 2,500 3,500 A 1,000
01 AFR 22 2,500 3,500 21,000
Q3IME M= 10,0008 * 508 * 53 2,500
(BZ)NEBARIF €2 =2 59,893 63,427 N3,534
201 LBt % | 59,893 63,427 A3,534
01 AFR 22| 59,893 63,427 A3,534
OMNLEZAIXID HE 242 59,893
QAR X}
46,0002 X1/49.8 » 40,000 * 1.1 40,643
OoHME
350 K| * 40,0002 * 0.5 * 0.3 * 1.1 2,310
Oo0l2 Al
2002 X| * 40,0008 * 0.5 » 0.7 » 1.1 3,080
OEXoIER
2,100Z X * 40,0002 * 0.5 x 0.3 * 1.1 13,860
(HEZ)NEZAIXIIE QY QIGEAAE TIe & 10,044 10,044 0
HlolE
201 Y| 10,044 10,044 0
02 22294 10,044 10,044 0
OuIISAAE T2 AOO0IE 10,044
OXIJt 2 EMXE AOOIE(SE, 2F XD}
137,500Z K| » 182 * 2 = 1.1 5,445
OZHI= L AHOIE(REXI 0/ER)
38,0002 X * 97 * 1.1 4,055
OB (E=X, &2, 228 E) dU0E
544,000 * 14l 544
(H)MEZAIKIIL 2Al 202,581 210,663 18,082
101 @124 | 48,123 44,893 3,230
M4 IILHERR2NERS 48,123 44,893 3,230
OMEZAX I Bxoe
1,700 x 10 * 150 «70% 43,785
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2N AEFSD
HE: NFHY ZalH 25
Sl BEE WES AT ZAAH (&9 &)
SAH-HM . A2(3H) - MEANY - HES Of &koH EIEE.E“ HusZ
PEEPIELCTES 4,338
OALEE 43,785,000 2.82% 1,235
ORIIQYEH 1,235,0002 *6.55% 81
Oo=o0az 43,785,000 #4 . 5% 1,971
OnEEE 43,785,000 #1.4% 613
OLTNEE 43,785,000 *1.0% 438
201 Ler29y| 151,758 162,770 A11,012
01 AFR 22/ 151,758 162,770 ~11,012
OMLEZAIKIIL ZAE HMZ 4,500
OZXAHCHA 2 XI £ (B4) 10024 %30, 000 & *50% 1,500
OE X A (B4) 1002 *30, 000Z «50% 1,500
OEXNSY ¥ ZEFXZAM(B4)
100 *30, 000 Z *50% 1,500
OMEZAXII AE +42 HatEZ 74,388
o181 AF XDt 40,650
o781 AF XDt 13,738
O2AME 20,0002 *1, 000! XI*50% 10,000
0019 &1 & 20,0002 1,000 X| *50% 10,000
OMNEBAIXIIL 28 - 2F SXE HNE - &5 37,120
o181 J|&E 32084 %70, 00001 x23| «80% 35,840
o7g1g JI= 40024 *2, 0000H 23| «80% 1,280
OMEZSAIXIL SHEEH M 27,900
o1g1g J|= 12,0002 *1,6000H x28] x60% 23,040
o781 JIE 2,7002 *1, 50000 *23] *60% 4,860
OMNEZAXI B2 S50 2 2rm
70,0008 #43] % 157K £ 4,200
OXADRSHEIIARNE ¢
70,0008 7 A +53 2,450
OHADRSHEIIAJAS AANZ HE
10,0002 x24 8 %53 1,200
202 044l 2,700 3,000 A300
01 2LHMbI 2,700 3,000 A300
OMLEZAIXIIL BXIZAF 04| O AtE 2t 2,700
e I He E2Y FL 278,621 186,522 92,099
= 5,490
= 20,000
Al 253, 131
(BRC2¥F=L 29 78,431 68,560 9,871
101 @24 6,877 0 6,877
4 JIZHHE2ENERS 6,877 0 6,877
OZ2YUZAAIL TAS 41,7002 +1F 150 6,255
OEE Jlaeez 622
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CARFEE W

=0 I A2 E2H FL2 HEH)
SA - B G(S) - BN - BES ol ot o S e
(OFaFii=l=: 6,255,000& x2.82% 177
OIRLEH 177 ,000& x6. 55% 12
Oo=gez 6,255,000& *4.5% 282
(ONE=3]-: 6,255,000 *1.4% 88
ONNEH 6,255,000& *1.0% 63
201 23| 26,854 26,560 294
01 AtR2teldl 23,904 26,560 A2,656
OHE I AZE(ELAI) 700,000& *3& 2,100
QOEZH 223 3,200
OEX 50,0002 +20E 1,000
@)1= 330,000& x2M E 660
oYd3a 770,000& «2NI E 1,540
OEZEZ=A EE2 ME HAaEZ 17,344
OHRZ CREFAYNS 45
70,0003 6 H +33] 1,260
02 3294l 2,950 0 2,950
OSZYANE(EZHE) Eolitha SHOHY 2,950
202 o4 4l 2,700 3,000 A300
01 =i b 2,700 3,000 A300
oASHST UMHZE SEOHl GoEZY 2,700
206 X =2 I 12,000 9,000 3,000
01 MZdl 12,000 9,000 3,000
odsvsm NNz 6,000& 2, 00074 12,000
401 Al EHI L 20HEI 30,000 30,000 0
01 Al&HI 30,000 30,000 0
OEZYFA T2HE =IO
500, 000& *60H 30,000
(H=)T2Y20AIY 2 2 GUHAIZAE RRES 107,421 15,550 91,871
201 Br2F | 93,559 12,750 80,809
01 At 2teldl 81,559 750 80,809
OF2YZFLNY BEE 34,000
OLzd=A E2EE M
1,000& * 12,0004 12,000
Ocszs wE AEH HA
1,000& = 22,0004 22,000
OZZ2HFL2A3 3AME HZEH
5,000& * 50& = 33 750
OEE FFAN T2 F4 B 46,809
O2SF4 OHLHE HMZ 10,0008 = 4,270H 42,700
O3S+ AEFH HE 700 * 5,8700H 4,109
02 822224l 12,000 12,000 0
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£ = d L
2AH -3 . A2(3H) - MEANY - BHES 0ff AFSH aag‘“ HnsZ
OTZ2Y LU AHSHS OHHAAYE SXBS
1,000,0008 » 120 12,000
206 M2 5,450 2,800 2,650
01 2| 5,450 2,800 2,650
OHESHSE HZ L &X 2,950
O3M BHARX] EHR oHAH 850,000 * 38 2,550
OHEHST 2R 422
2,000 = 10004 200
OEZHOIZ 200,0002 * 1M 200
OAMZTA CHHE R 2 500 * 1,000AICH 2,500
403 MHXISHEX=01A 8,412 0 8,412
02 2| ZSOICHSHTH S AF b 8,412 0 8,412
OKAIS2Z X L GISHE K24
8,412,0002 * 14l 8,412
(BF=)S29ZA OHHAIZZS A 34,000 42,000 28,000
206 24| 12,000 12,000 0
01 XM 24 12,000 12,000 0
OHEHST BHE 26,0002 * 2,000 12,000
305 A2 S 5,000 5,000 0
01l A3 S 5,000 5,000 0
OTZ2YT AFDZA HiAZ 500,000 * 103 5,000
401 Al&HI 2 20 17,000 25,000 28,000
01 Al&HI 17,000 25,000 28,000
oZ2yn &% 400,000 * 3070 A 12,000
OZ2YEI |KAEH 100,000 * 5004 A 5,000
(Bo)c2d L AE-sS 82(20) 8,000 8,000 0
= 2,400
Al 5,600
201 LEF2YH| 8,000 8,000 0
2,400
5,600
01 AFR2t2/H] 8,000 8,000 0
OE2g=A E8E M 8,000
= 2,400
Al 5,600
(BF)E29 L ASHS 20 ALY 10,300 10,300 0
= 3,090
Al 7,210
201 229 10,300 10,300 0
= 3,090
Al 7,210
01 AL 2t2/H| 10,300 10,300 0
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INESFS)--a)

M XA ZHE 235
o2l ED I M2 E2E T4 CEEED)
. d Ll
SN - B S2(H) - HEAY 0 & Sc0 HIDE2
OEZ2YU=A SEHE2E Y&
10,3002 * 1,000H 10,300
=2 3,090
Al 7,210
(E=)T29Ald XA 19,000 15,000 4,000
(= 19,000
401 Al HI2 20y 19,000 15,000 4,000
[= 19,000
01 Al&HI 19,000 15,000 4,000
OE2HAL MY 19,000,000 * 14! 19,000
= 19,000
(HRET2HEFA HEF 7,912 6,112 1,800
403 XX SHHSXHE0|H 7,912 6,112 1,800
02 2 ZSOCHE N AL H 7,912 6,112 1,800
OZ2INEBANAH RSB & 2| 7,912
OGISHE X8 26,600, 0002 1Al %7% 1,862
OKAIS 2Z X< 6,050,000 *1 Al 6,050
(BT 2UZ=A AFH(ZH]) 1,000 15,000 214,000
[ 1,000
401 Al HIL 20 1,000 15,000 214,000
= 1,000
01 Al& ] 1,000 15,000 214,000
OZZHAA AXAA(Z 22| 22H) 1,000
[ 1,000
(He)E29 L 2HEMS 20 8,2% 6,000 2,29
403 XX SHHSEX=01H 8,29 0 8,296
02 2O 2SO CHEHCHE AL HI 8,29 0 8,29
OE2Y=A I @5 8,29
(A= )E2U=A)|=25 885 AY 4,261 0 4,261
403 THXISHH S =01 ™ 4,261 0 4,261
02 2SO AL H 4,261 0 4,261
OEERUZEA J|=2E HHMFAY
4,261,000 * 14! 4,261
EX2e 40,118 37,029 3,089
(B2 XA HMe 12,821 13,080 2259
201 Let2%H| 3,771 3,880 2109
01 AH22:2/H| 3,771 3,880 2109
OXHOY EXOISAEA 55242, 000 0K 110
OEXIOISHAN L SHAVT I
10,0002 *30X 300
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A NEFE 0

M NEY ZAH LG
e EX22) (e & Q)
= A &M (=] F &1 =] 2 OH @E‘E =}
2 -FHM A (3H) - HEANY - HES 0f A+ 0l AF o Hunsz2
OXHAZ ZREXSEINE A (AR
2 1,261
OHAZ KNTUEZAISIKE| EHA2
0,000 x6 % *23] 840
OHAZ FAHBEAYS ¢
70,0002 x6% *33| 1,260
202 04| 2,700 3,000 2300
01 22Uyl 2,700 3,000 2300
OEXOISEAL ¥ NE=2 HXXZAF ot O
ArE 2t 2,700
401 Al&H| 2 20 6,350 6,200 150
01 Al&H] 6,350 6,200 150
OXNEIEN B2 127 ,0002 x50 & 6,350
(B2HEXR=2Y XHel 27,297 23,949 3,348
101 @124t 6,877 6,419 458
04 JI2ZHRERXERS 6,877 6,419 458
OSESAAI A D ¥ Aol ol
41,7002 %150 » 1 6,255
OEE JIARL2(58) 622
OHLEE 6,255,000 *2.82% 177
ORIALH 177,000 %6, 55% 12
Oo=pa2 6,255,000 x4 5% 282
OnEss 6,255,000 *1. 4% 88
OMTEE 6,255,000 *1.0% 63
201 LEr2HH| 14,220 13,030 1,190
01 AFR 22l ] 14,220 13,030 1,190
OX MO SFLIAIAM 202! 60, 0000H 1,200
oOX=DIYLZ U SIHAZ2EXNE =SAM2X
25,0009 x2008 A 5,000
OX=DY ESHLI=EI| L 2AD| A2
Off &P R 24 8,020
202 Gl 2,700 3,000 £A300
01 2] 2,700 3,000 2300
ORSAZE 2L ENFEURFE 0ol oA
2 2,700
301 Yt AS 3,500 1,500 2,000
11 JIEtE A2 3,500 1,500 2,000
OZOZEIHAIA R et ADNZAZ
500,000 324 1,500
OEXHHG IR APEAIS A DZAS
500,000 #4214 2,000
AR BTGt HEZAl HFUET 8,580,952 8,508,000 72,952
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A ANEEE 0
X

M (YUY DAY 23
=
=

B2l AIRID BotE EETA FFTST (Etel-d8)
VR -ER-CICP MRV ENERE-EE 0f ae e DS
(HF)KT8G 2X(A2) 00 8,560,952 8,503,000 57,952

201 YEr2E ] 57,520 3,000 54,520
01 AFR 2l 240 300 260
O¥EZEZ U= 120,000& = 2% 240
02 S5=24 57,280 2,700 54,580
odsz 25,0008 = 128 300
(OE=== 100,000& = 12 1,200
OXIItH AL =T
1,260,0008 = 122 15,120
(OFSPIE= 2,500,000& = 128 30,000
ogstel =42 800,000& » 12& 9,600
OEINMNERE= 700,000& * 13 700
OKT8G St &tE 22X ¢alg 30,0003 = 128 360
307 2120l 3,432 0 3,432
05 Bt E = 3,432 0 3,432
ORAMTAHIAMAY 2[5 286,0008 = 128 3,432
401 Al HIZ R0 8,500,000 8,500,000 0
01 Al&Hl 8,500,000 8,500,000 0
OKTRG £X(AE) LU= 8,500,000,000 8,500,000
(B 3)KT8G 22l 20,000 5,000 15,000
401 Al HIZ R0l 20,000 5,000 15,000
01 Al &I 20,000 5,000 15,000
OKT8GAIE€ 2 RA2 =+ 20,000,000 * 14 20,000
HeRgs 2o, =+ 105, 189 112,210 AT,021
(BF)HLHIE BS++rE2 42,000 42,000 0
201 ¢Er=2g| 42,000 42,000 0
01 At2 22l 42,000 42,000 0
ONEREEE === 42,000
OlgHig a2 800,000& « 40A 32,000
OESANEI ZHEI} £22
1,000,000& = 102 10,000
(B)g=Res 2 63, 189 70,210 A7,021
201 egr24gd| 63,189 70,210 AT,021
01 At 22l 63,189 70,210 AT,021
OHgREs MEUY HS++E HMEZ 62,979
ONLRYZ MRS Fa+E
0,000& x3& 12 210
HYSHYZH(NHFED) 63,903 71,870 AT 967
Jl=3 Y 63,903 71,870 NT,967
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PNESES3--In,

M HH2AAL(NNZSW)
Sl J|=2Z (e &)
- . L
S - .. A(3H) - HEAEY - BES 0f] Ao %E& Hluns2
(8e)J|=2dl 63,903 71,870 AT 967
201 LEr2 Y| 25,389 28,210 A2,821
01 AFR 22| H 25,389 28,210 A2,821
OBEN2YY HAE2 14,199
SEEL:] 6, 0002 *23% %2502 *22% 7,590
on2a 29| 300,0008 * 128! 3,600
202 G4l 33,534 37,260 A3,726
01 22U oib 33,534 37,260 A3,726
©@JI=2H2EZR oH| olaEZ 33,534
203 YR EEH| 3,780 4,200 2420
04 EH2IYREXH 3,780 4,200 2420
ORN2YARETIH oAt 3,780
204 E 2324 H 1,200 1,200 0
0 MR AY 1,200 1,200 0
ORIKNE XMF 100,000 * 122 1,200

- 863 -




